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alEgHomnE | EmES 1 -0640 | EmA AITE2 | FRfEHh FEESFHAIHEE
BEOEEFNOHLLTIHORFOER (L EETEMRE)
ith BSOS X(m) Y(m) HhEEE X(m) Y(m) thE RS X(m) Y(m) RS X(m) Y(m)
Y-1 91549.30 —-295%0.16
Y-2 91526.94 -295%9.87
Y-3 91519.78 -29616.47
Y-4 91512.01 -28637.31
Y-5 91507.28 —28653.50
Y-6 91507.27 —-29669.37
Y-7 91518.10 —29672.40
Y-8 91526.36 —-29674.72
Y-9 91535.99 —-29677.41
Y-10 91540.56 —29662.75
Y-11 91544.33 —29648.45
¥-12 91552.711 —29631.24
Y-13 91554.41 -29619.41
Y-14 91565.18 -29611.63
¥-15 91559.24 —29603.59|
Y-16 91555.25 -295%8.20
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ELVWVEEDOE T OHL T HORIFOEE (LK EHAIZ R KiR)
h R A5 X{(m) Yim) | thEERE X{m) Y{m) ith R RS X(m} Y{m) h REE = X{m) Y(m}
R-1 91552.41 -20594 36|
R-2 91534.84 —-29605.49||
R-3 91527.75 -29620.44)
R-4 91519.28 -29639.81
R-5 91514.88 -29655.61
R-6 91513.13 -29671.01
R-7 91518.10 -29672.40)
R-8 91519.01 —~29672.56|
R-% 91523.45 -29657.99
R-10 91527.39 -29642.61
R-11 91536.91 -29625.01
R-12 91542.21 -29610.73
R-13 91555.25 -29598.20)
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